Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300011 Date: 26- 05-2015
Subject Name: Basic Chemistry (Group-4)

Time: 02:30 PM TO 04:00 PM Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumption wherever necessary.

3. Each question is of 1 mark.

4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5

. English version is authentic.

No. Question Text and Option. U# Wal [Ascl.
......... electron/s of atoms take part for the formation of a chemical bond.

I. A. Innermost B.  Outermost
C. Almostall D. Few
AAAQ S olel slolletadl HIR ... gAselel oL A B.
LA vERell B gglrall
C. catedl vl D. dist
During formation of an ionic bond between Na and C1, CI ......... electrons.
2. A. gains B.  Looses
C. shares D. None of these
Na wal ClaRA wl@As oltl tatdl aua, CISASet ......... .
. A NnA® B. oA ®
C. eolleldl 52 ® D uudll Asuel o8l
Which compounds have low melting points and boiling points?
3. A. lonic B.  Metallic
C. Covalent D. Molecular
sl Ueledloll Alctellolg wal Besctsilole o{lAL sla B?
3. A s B ulus
C. erldlws D e
......... has FCC arrangement.
4. A. TIron B. Cadmium
C. Chromium D. Gold
......... ol FCCRUsll Sl ©.
¥. A Al B.  FsMan
C. sRan D Aq
Graphite is an example of ......... type of solids.
5. A. Network B.  Molecular
C. Metallic D. Ionic
Asise A ... YslRell Uol 8.
wo A eofler B waa
Culus D y[s

6.  Which of the following has one Si attached with three O in its molecular structure?
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10.

0.

1.

9.

12.

.

13.

3.

14.

A. Kwartz B. Mica

C. Asbestos D. None of these
o{lAottmtell Slott WAL GitlRRHL WS Si AL AR OBISIAAL Sl B?
A sades B. sl

C. QYR D el Asug «18l
Which catalyst is used for the manufacture of ammonia by Haber’s process?
A. Fe B. Pt

C. NO D. CuCl,

geiRe{l vl cotictalsll QR 52 GElUs cuRA &7

A. Fe B. Pt

C. NO D. CuCl,

For the formation of SO3 gas from SO, gas which homogeneous catalyst is used?
A. Pt B. Fe

C. NO D.  Anhydrous AICl;
SOyl SO;cll?) vlotictalsll QML 520 qMioL GElus Ul B2
A. Pt B. Fe

C. NO D.  Anhydrous AICl;

On dilution of solution of an ionic compound, ionization ......... .

A. Remains same B. Decreases

C.  Stops D. Increases

wWRAEGs UeLdoll alalle] Heat scll, w2AlsRQL ... .

A @l % B B. a2 ®

C oy aad D. «qd ®

The degree of ionization fora ......... electrolyte is less.

A.  Strong B. Weak

C. Neutral D. Strong and Weak
......... Qg c(Qeusa HI2 uuells0L vial S| sl B.

A yua B. [dda

C. e D yua wa Reda
-log[H]=......... .

A. -log[H;0"] B. pOH

C. -log[OH] D. H'
-log[H]=......... .

A.  -log[H;07] B. pOH

C. -log[OH] D. H'

What is the pH of 0.01 M HCI solution?

A1 B. 2

C. 3 D. 4

0.01 M HClell silctele{l pHYj 8?

A1 B. 2

C. 3 D. 4

Buffer solution is the solution whose pH ......... .

A. Increases B. Decreases

C. Remains constant D. None of these

W$R alall g alall & ¥ oll pH ........ .

A dll B B. w2 ®

C wan W ® D. el Asuwt o8l

Which of the following is a non-conductor of electricity?
2/10



Y.

15.

.

16.

1S.

17.

9.

18.

.

19.

c.

20.

R0.

21.

A. Aqueous HCI B.  Aqueous NaCl

C. HO D.  Sugar

ol Actiedl 53 ([Qgiclo] ualles B?

A HClej wc{lat glaa B. NaClej cllal slael

C. H,O D. U{ls

In an electrochemical cell, ......... energy is converted into ......... energy.
A. Electrical, Chemical B.  Mechanical, Electrical

C. Chemical, Electrical D.  Electrical, Mechanical
QgdRual@s sty ......... AGA] ......... AlGAML 3UldR A B,
A [Agd, @S B ai3s, (Qgdla

C rua@s, @Qygd D [agdla, 2i@s

What is the function of a salt-bridge?
A. To maintain electro neutrality of B.  To transfer electrons.
the solutions.

C. To pass electric current. D.  To remove solutions.

aR-Adq] sl g &2

A gagl ol Qg dereldl B, gaslotell @QAM2A 12
ostcacll

C. (Agdycts YR sl D. gla@l g2 sal

Which of following is correct for standard conditions?

A.  25°C temperature B. 1 atmospheric pressure

C. Solution of 1 M concentration D. A, B.andC.all
ol At ll YHIBlA 2RAl M2 53 ALY B?

A 25°C dlUHLet B. 1 aldiarel gouil
C. 1M Asdlalg stagl D. A B aa C. utll
What is the potential of a standard hydrogen electrode?

A. 00V B. 10V

C. 123V D. 15V

YHIRlA sleFQaget Yl HiZell W2GAJAA 9 B?

A. 00V B. 10V

C. 123V D. 15V

m oc [ x t indicates which law?

A. Modernized Faraday’s law B.  Faraday’s first law
C. Faraday’s second law D. A.,B.andC.all
moc Ixt3 s [AAH Yud B?

A 3036 ulylls Aan B 3036l yuH [Aan
C. 313 Rdla Qan D. A, B aa C. ull

Wax blocks are used for ......... .

A. Electroplating B.  Electro refining

C.  Electrotyping D.  Metal extraction
Hloetl oAdls ... 2 AUl B.

A gaseAlRal B.  gasa RsieSllol
C. gaselsol Do aidett Gl w2

Rate of corrosion oc ......... )
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1.

22.

R.

23.

3.

24.

R¥.

25.

QY.

26.

RS.

27.

V.

A. Moisture content in atmosphere ~ B.  Temperature
C. 1/ Moisture content in D. None of these
atmosphere

&URLLeAl €R o ......... .
A dldlaRRHLe Aol YHIRL AlUHLet
C. 1/ ddaremiell Qxell D e Asuwl o8l

w

YHLRL
Which of the following is not a type of corrosion?
A. Direct corrosion B.  Anodic corrosion
C. Galvanic corrosion D.  Cathodic corrosion
o{lAsttHiell 520 atRelell ust? «edl?
A dly aRel B. Q35 aureL
C. decdlxs aurul D. 335 auruL

In water-line corrosion, the metallic portion which remains in contact with atmosphere
actsas ......... .

A. Anode B.  Cathode

C. Electrode D. None of these

uRllell olA adi atREl, Uldell % ol cAlclaRRlell AUSHL ¥ A ...
A3 ad B.

A Qs B. ¥als

C.  gasls D e Asuwl o8l
If pH < 7, then metallic corrosion ......... .

A. Increases B.  Decreases

C. Remains same D.  Stops

ol pH < 7,dl (12 &uRQ ........ :

A al ® B. w2

C. Auo] AM W D D. ey ®

......... method is used to make coating over small things like bolts, screws.
A. Galvanizing B.  Sherardizing

C. Tinning D. Metal spraying

allo{l clR2 Bl 3 cllca, g GUR slRaL scll ... We(d cuRia .
A QdAsugEol B. QRsigloL

C. A D uiq eesla

A non-porous layer of oxide ......... metal corrosion.

A. Increases B.  Decreases

C. Remains same D.  Stops

WSAUESo] WOl US tlde] &R ........

A duR ® B weld ®

C. Auo] AM W D D uesa ®

......... corrosion is observed in rivets and bolts.

A.  Atmospheric B.  Water-line

C. Crevice D. Pitting

RAe wA olleeHi ......... &R0l Blall HA B,
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28.

RC.

29.

RC.

30.

30.

31.

34.

32.

3R.

33.

33.

34.

3%.

A dldiaredl B ygllell 1A ad

C. dasul ad D. [t

A layer of zinc metal is coated over iron to prevent corrosion by .......... process.
A. Galvanizing B.  Sherardizing

C. Tinning D.  Metal spraying
Alvisal el cautdal M2 (Bs Ulde] us ... el ustaauul wa
8.

A dcdAsugFat B. [QRsig5eslat

C. Al D uid gesla

Which type of impurities are generally present in water?

A.  Physical impurities B.  Chemical impurities
C. Biological impurities D. A.,B.andC.all

sl YsiRell WGl AHeA A welHi s 82

A alllds wgERA B rua@s gk
C. lAs wuy A D. A, B.usal C.olul
The water which does not give lather with soap is called a ......... water.
A.  Soft B. Pure

C. Hard D. Impure

o Wl U AA SOl ot WA Aa ... uell sdauat

A oRU B. 94

C. sl3et D. s

Temporary hardness of water is due to the presence of ......... .

A. Ca(HCO:3), B.  Mg(HCOs),

C. A.andB. D. None of these
wQllell a@s sBotdt ......... A wedl ®.

A. Ca(HC03)2 B. Mg(HCO3)2

C. A ua B. D uidie] Asuel o1&l
The molecular weight of CaSOy is ......... g/mol.

A, 111 B. 136

C. 95 D. 120

CaSO,oll URIGUR ........ AUH/HA B.

A, 111 B. 136

C. 95 D. 120

lppm=......... ° Franch

A. 0.1 B. 0.7

C. 0.01 D. 0.07

lppm=......... °5U

A. 0.1 B. 0.7

C. 0.01 D. 0.07

If temporary hardness of water is 30 ppm and total hardness of water is 80 ppm, then
permanent hardness of water is ......... ppm.

A. 30 B. 110

C. 80 D. 50

%l WRllell alds sldotctl 30 ppmdlal vt WRllell s s(Botctl 80 ppmélat, Al
wellell statl sdotct

A.

30
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35.

34.

36.

36.

37.

39.

38.

3¢.

39.

3¢.

40.

¥0.

41.

¥q.

42.

C. 80 D. 50
Which compound causes caustic embrittlement?

A. NaOH B. NaCl

C. N8.2CO3 D. NaHCO3

sl AAwola 510 slRRs Aldecle aulA B?

A. NaOH B. NaCl

C. Nay,COs D. NaHCO;

CaO and Na,COj areusedin ......... method to make hard water soft.

A. Sodalime B.  Permutit

C. Ion-exchange D. Reverse osmosis

......... Ut (AHL 56t WRllal ol olotlalell Ca0 WA Na,COsclURA B.
A AUsL AlSH B.  wi2f2e

C. ye-Ana D Rad »miR

In chlorination of water, ......... formed kills the pathogenic bacteria.

A. Cl B. HOCI

C. HCl D. H

URletl sAAZAAAHL Ol ... ulacoll as2Rauell «itat 52 B,

A, Ch B. HOCI

C. HCl D. H

Acidic resins and basic resins are used in ......... method to make hard water soft.
A. Soda lime B.  Permutit

C. Ion-exchange D. Reverse osmosis

......... ue(Qul s(det willadl oM olotictal ARBS AVt U ARs ARt
dAuRlA 8.

A AL ALEH B. wi2j2e
C. ye-Alna D Raal xR
......... compounds burn with sooty flame.

A. Tonic B.  Aliphatic
C. Metallic D.  Aromatic
......... daAogell yusiauoll =0 ddl wa 8.

A w2 B.  a@iRs
C ulus D QAnRs
Carbon of methane molecule has ......... hybridization.
A. sp B. sp’

C. sp3 D. No

M At WRHL ¥ sL6let ... UsWL YA B.

A. sp B. sp2

C. sp D. No
Regarding strength, 6-bond ......... n-bond.

A = B. >

C. < D. >

U ASA Wojdella, -0l ......... -0l

A = B. >

C. < D. >

......... 1s the most reactive functional group.

A. -COOH B. -OH

C. -CO- D. -CHO
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¥R.

43.

¥3.

44,

¥Y¥.

45.

¥y,

46.

¥S.

47.

¥O.

48.

¥C.

49.

¥C.

......... A Al wBa Gaeld wys .

A. -COOH B. -OH

C. -CO- D. -CHO

The IUPAC name of CH3-O-CHj is .........

A. Dimethyl ether B.  Methoxy methane
C. Ethoxy ethane D.  Methyl ethyl ether
CH3-O-CH3°j IUPACqlH ......... 0.

A sisRasd U B, flasdl Mt
C. gasdl su D. Rudd susc sUR
n-butane and iso-butane exhibits ......... isomerism.

A. Chain B.  Position

C. Functional group D. Metamerism
n—02j2ol W WUESA-02at ......... AHuUesdl galla B.

A 9wl B, 2eet

C. (Bauellet Wy D Randlayn

A mixture containing 50 % dextro and 50 % laevo isomers is shown as ......... .
A, d- B. 1-

C. dl- D. Id-

50 %352\ WA 50 %Al AHuUseAl AR ... Jl ealleual,
A, d- B. 1-

C. dl- D. 1d-

Cis- and trans- isomerism is also known as ......... 1somerism.

A. Optical B.  Chain

C. Tautomerism D. Geometrical

RA- A glot-AHURSAA ... uel 58 9.

A ysella B. qua

C. 2w D. al®@s

Which of the following has the highest reactivity?

A. Alkane B. Alkene

C. Alkyne D. A.,B.andC.all
ol Astiiuedll Sloll uBaA W ay sl &?

A A B. @t

C. yesiesal D. A, B. ua C ol
At the end of distillation of coal tar, ......... 1s obtained.

A. Asphalt B.  Heavy oil

C. Anthracene oil D. Lightoil
sldelRell [ARIEAH] DA ... HA B,

A SR B. e dae

C. Rogyillet Act D sas et

The unit of viscosity is ......... .

A. mg/l B. Poise

C. gl D. Hz

Raltotclloll WSH ......... .

A Ra/@ B. Qg

C. OJ.'. /[a_ D. Hz

7/10



The temperature at which when a flame is kept near to the vapour of fuel and it is burnt

50 continuously then it is called ......... of that fuel.
" A. Flash point B.  Cloud point

C.  Fire point D.  Pour point

% dluHla yalgl wesoll clivd WA A cleldl olsd Andlcle] Acd

AU 52 Aol WES] ......... 58 9.
Yo. . .

A asst (g B. yy (g

C. oL [dg D e (g

The mixture of oil and water is called ......... .
51. A. True solution B.  Emulsion

C.  Suspension solution D. Lubricant

Act wa wWelleit A8t ... 58 ©.
. A Ay alaal B gy

C. wdd stagl D aotes

The number of milligrams of KOH required to make soap from 1 gm of oil is called
>2. A.  Saponificationnumber B.  Emulsification number

C. Lubrication D. Distillation

1 UH Al Ay oettaal M2 %331 KOH ol RlAauHa ........ 58 9.
. A ugellsel uis B yalls:el uis

C. et D [Qieat

Which of the following is used as lubricant in bearings and vehicles?
53.  A. Oliveoil B.  Caster oil

C. Palmoil D. Tallow oil

AL WA cAlgollHl 65 3} 9 cluRjNA B?
3. A A@Aa Ad B. (Radd Ad

C aunmsule aa D 20lle Aat

Which type of lubricants are Grease and Vaseline?
54. A. Solid B. Liquid

C. Gas D. Semi-solid

AU el allofal sl YslRell e8| B?
uy. A el B. yawgl

C. ay D. -t

Which type of lubricant is used for speedy, soft and light weight machines?
55.  A. Solid B. Liquid

C. Gas D. Semi-solid

gsUl, ol U AL cAxatallol HflollMl sl <les AURAU B?
uw. A gel B yagl

C ay D d-aet

The temperature at which the liquid can no longer flow is called ......... .
56. A. Flash point B.  Cloud point

C. Fire point D.  Pour point

% UMl Yallgl @esall A UAA eS| sl Aol @eSa] ... 58 B.
us. A . .

- Assl (cg B. 4y (dg

8/10



57.

9.

58.

uc.

59.

uce.

60.

SO.

61.

SAq.

62.

SR.

63.

S3.

C. o (olg D e (g

The molecular weight of monomer is ......... molecular weight of polymer.
A. Less than B.  Equal to

C.  More than D. None of these
HlollHRell AURRUR HgULSoll UQEUR ......... sl B.

A gdl ¥t B. et

C. s2diay w Ll As uel o8l
The monomer unit of P.V.C.1s ......... .

A. Propylene B.  Styrene

C. Ethylene D.  Vinyl chloride
P.V.C.oll HlolHR ASH ......... 0.

A Qullellet B, laRet

C. gl D, [@Qaugse scARs
Which type of polymer is -A-A-A-A-A-A-A- ?

A. Linear polymer B.  Branched polymer

C.  Cross-linked polymer D. None of these
A-A-A-A-A-A-A- UL SAL YSIRL Kgues B2

A Uisn olguUes B awnlla gues

C. uUlcRuilld wgues Do el As ug otel
......... is a co-polymer.

A. Polyethylene B.  Polypropylene

C. Nylon D. P.V.C

......... A As Ue-uguULs B

A Qg B Qdlgdlellst
Melamineisa ......... polymer.

A.  Thermoplastic B.  Thermosetting plastic

C. Thermoplastic and thermosetting D.

None of these

plastic
QA A ... ugues 9.
A dluyet B quuren@d
Codauyetial ual dlwrel@d Do el As uet o8l
Nylon-66 is prepared by .......... polymerization.
A. Condensation B.  Addition
C. Condensation and Addition D.  None of these
ASAA-66A ........ wguesldl olellaal 8.
A Rotol B. Qaella
C. dtotet wal A10A D ouell A ual o8l
Which of the following is a natural fibre?
A. Nylon B.  Cellulose nitrate
C. Terylene D. Silk

ol Aol s cgues gecdl olgues B?

A SA B.

ARJAY ollefge
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64.

S¥.

65.

SU.

66.

S6.

67.

SO.

68.

SC.

69.

70.

90.

C. 3Rt D. Yan

Which of the following polymer is used for preparing rain-coats?

A. Polyethylene B.  Polypropylene
C. Nylon D. P.V.C

ol Aol 53 cgues Rot-5l2 Glotlaall cAURAU B?
A Qdlgdllcllet B. Qelludllcdlet
C. Sclet D. PV.C

Which monomers are present in orlon?

A. Vinyl cyanide B.  Vinyl chloride

C. Vinyl alcohol D. None of these
BRAAHL sl HlollHR sl B?

A [QellSAH WSALESS B. (Ao sAARES
C. (QelusSet aues8lc Do ol As uel o8l
There no effect of acid, base and other solventson ......... )

A. Buna-S B. Orlon

C. Epoxy resins D. Terylene

......... U AR, A val oflest stasloll 1R adl a8l
A ofotl-AY B. RcAlet

C. Qs 2ABet D 2RAlt

What is used for the vulcanization of rubber?

A.  Phosphorous B.  Sulphur

C. Carbon D. Sodium

R0l ACkaESRAt HIE 9 AURAU B?

A SRk B, yese

C. slolot D ABan

What is GR-A?

A.  Natural rubber B.  Buna-S rubber
C.  Vulcanized rubber D. Buna-N rubber
GR-A ¢ 8?

A gedl R B. gol-ad 02
C. adellghrs R D. gfoll-Aat 043
The density of thermocole is ......... kg/m”.

A 22 B. 27

C. 65 D. 63
ARUS\AAl Ustcll ......... kg/m*®.

A 22 B. 27

C. 65 D. 63

Which of the following is not an insulating material?

A.  Asbestos B. Glass

C. Wood D. Metal
s(lAatuell 53 [Qricudl ueldl oell?

A QAR B. s1u

C auss D wg

sk o ok ok sk ok ok sk sk s skoskoskosk
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